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Sheet. In case the information is incomplele or different from the
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oo much time on any question,

12. No rough work is 1o be done on the Answer-Sheel. Blank spacey
provided al various places in the question booklel may be used
for rough work,

13. “Mobile phones and wireless communication dovices
completely banned in the examination halls / rooms.
Candidates are advised not 1o keep mobile phones/any other
wireless communication devices with them even in :wr:uhodl
off mode, In their own interest Failing to comply with this
provision will be considered as using vnfair moans In the
examination and action will be taken agalnst them Including
cancellation of their candidature and futvre debarment from
appearing [n examinations™ -
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GENERAL INTELLIGENCE & REASONING
Questions : 25

1. A man travels 3 km. to the West, turns left and goes 3 km., turns right and goes 1 km.,
again turns right and goes 3 km. How far is he from the starting point?
U et 3 e, ufeam w1 Sl A ween & R ard s e & e 3 fed, s @, et o
A ¥ 301 FEd, s &) fiee 2t s qEa & s s fed, s 1 A el & e e o sed
fradft g e ?
(A) 7 km/ famit. (B) 6km/fmft. () Skm/fFd. (D) 4 km/fFA.

Direction for questions 2-3:

ma 2-3% fore foder:
In the following questions, each of the given letter sequences have some letters missing,
which are given in that order as one of the four alternatives under it. Find the correct

alternative.

Prfaf@ et #, R v 93 I & &7 4§ §0 R G ¢, S B o Reeat A a i ew A
few o ¥ wé RAEeT F T

Questions/9%7 :

2 _ b e b c a _ b cb _ aab c -
(A) acbb (B) aacb (C) abcc (D) abbc

3. ab _ a a b a b b _ a b a _ b a _ b
(A) bbaa (B) abba (C) aaab (D) baba

4. Which pair of English letters should be the next in the series of pairs of letters of English
alphabet given below?
drr foi M SiUsT aunel % SE F FU 9 ° e g1 HE 6w 2
BE GK MR TZ BI
(A) IR (B) K5 © Js (D) KR

Direction for questions 5 - 6:

W 5 - 6% v Bl
In each of the following questions, four pairs of words are given out of which the words in
the four pairs bear a certain relationship. Choose the pair in which the words are differently

related.
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5 Fefafad val% ma F wwt & an S R aw § et & O 2 9 w ow Pfvaa
wau @ § 3 I B g e v s @ wata K

Queétiunm -

5 (A) Oil: Lamp (B) Wat;'-:r:Tap (C) Oxygen:Life (D) Power:Machine
(A) o :d® (B) o= caw (C) ffaehsmt: A (D) awwar : #efi

6. (A) Beautician: Parlour (B) Chemist: Medicine
(C) Lawyer: Court (D) Engineer : Site
(A) =gRAT= o (B) $fee:zar (C) wha:®:¢ (D) Fohfraw: Pefvree

7. If BAT =40, AT = 20 then CAT will be equal to
afE BAT =40, AT = 2081 CAT & AT g
(A) 70 (B) 50 ©) 60 (D) 30

Direction for questions 8§ - 12 :
wer 8 - 12 % forg Prder

Study the following information to answer the given questions.

fy=ifarfRae SRt @1 sreaas @ aite e e 1u gt @ am S

The members of a bank are Mr. Arora, Mr. Bharadwaj, Mrs. Chauhan, Miss Dutta, Mr.
Eknath and Miss Pal. The positions they occupy are manager, assistant manager, cashier,
stenographer, teller and clerk, though not necessarily in that order. The assistant manager is the
manager’s grandson. The cashier is the stenographer’s son-in-law. Mr. Arora is a bachelor. Mr.
Bharadwaj is 22 years old, Miss Dulta is the teller’s step-sister and Mr. Eknath is the manager's
neighbor. Mr. Bharadwaj cannot have a grandson or son-in-law as he is only 22 years old.

forey e, ey weary, fadt wter, s, fvey tey o e oe @ de S e d A
Hyo, FEmE R, Hie, A, e ol aad & vt F sfg & wenfd awd T @ 5w e
T S, BAOr T e 21 Hfie S @ 2 @1 e srter e & Rt we 238 H
ey e dore #t widelt g & i e o H9OR & gl & frer weer &1 g dar ar 2 ad @
Faife a8 Fam 22 af H &)

Questions [ W

8.  Whois the manager?
(A) Mr. Arora (B) Mr. Bharadwaj (C) Mrs. Chauhan (D) Miss Dutta

F9R $iH &7
(A) ez s (B) P (C) Awwh dler (D) few

9.  Who is the assistant manager? . |
(A) Mr. Arora (B) Mr. Bharadwaj (C) Mr. Eknath (D) Miss Dutta

Pl
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B Ao 3t 87
(A) Preee 3 (B) freRwwm  (C) Py (D) Prasm
10. Who is the cashier?
A) Mq:"}-qﬁif?ﬂm (B) Mr. Bharadwaj (C) Mr. Eknath (D) Miss Pal
(A) frees arar B) Pewwew  (O) P (D) TR
11.  Who is the stenographer?
(A) Mrs.Chauhan (B) Mr. Bharadwaj (C) Mr. Eknath (D) Miss Dutta
AT B 82
(A) st gter (B) frevwam  (C) Frev @ (D) Frgar
12.  Who s the teller?
(A) Mr. Arora (B) Mrs. Chauhan (C) Mr. Eknath (D) Miss Pal
CoR B &2
(A) Freew e (B) Mudtdiem  (C) e @R (D) forrare
13. Pointing to a boy in a photograph Akhil says, “He is the son of my mother’s only son’s

son”. How is Akhil related to that boy?
(A) Uncle (B) Brother (C) Father (D) Cousin
uF fag W et @5% @ foan g7 faa 3 #, g TR A F U 42 F 42 F AT B

wfigd e wFr A 39 o o gEfag & 2

(A) =TEVHET (B) g () fuar (D) =T /AR

Direction for questions 14 - 15:

v 14 - 15 % fera fm:

In each of the following questions, some words are given which are related in some way.

The same relationship obtains among the words in one of the four alternatives given under it.

Find the correct alternative.

91 foit U werE we 1 Fo e fed e o 5 feet 7 Rt e @ A &) i e aw

frereit 6 & e H W ¥ A qEE Hay ¥ wE fawes g4

Questions / 797 :

14.

GO ON TO THE NEXT PAGE

Lizard : Reptile : Insects
(A) Fox: Wolf : Forest
(C) Man: Omnivorous : Meat

(B) Fly : Insect : Bee
(D} Tiger: Mammal : Deer

Gﬂi{q:ﬁ?{l
(A) @mEt: Sfgar: s (B) Wl : FiZ : W
(C) W BAvE : A (D) = TR fe
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15. Magazine : Story : Article

(A) Tea: Milk : Sugar (B) Television : Newspaper : Entertainment
(C) Bed : Quilt: Pillow (D) Novel : Drama : Literature

uf e ; et e

(A) = 3u (B) fenfirera ; svErant ; WA

() fawar: wnd . aften (D) 3= ; e ; Ao

4

16. If + means +, ¥ means -, + means * and - means +, then
af + &1 3T+, x T WL -, + &3 % and - & W+, G
B+6x4+3-4=7?
(A) -12 (B) -20/3 () 12 (D) 20/3

17. 1§ NAXALITE is written in a certain code as LYVYJGRC, how will INTEGRATE be written
in the same code?
SR NAXALITE 1 it i wrkfirs s LYVYJGRC # % # feran s 3t #rikfa®
W1 3 INTEGRATE Y fore warr & fean s ?
(A) LGRECYPRC (B) GLRCEPYRC (C) RYWMNOPQR (D) BLACKHOLE

Direction for questions 18 - 20 :
W18 - 20 % ford e

In each of the following question a number series is given with one term missing, Choose
the correct alternative that will continue the same pattern and fill in the blank spaces.

ﬁﬁ#ﬁnﬁmmﬁﬁmaﬂﬂmmﬁmwtﬁmﬁmwmtlmﬁmaﬁ
S 5 I FW F) FE TN CE I @R FL

Questions / 99 :

18. 4, 32, 128, __
(A) 128 (B) 144 © 192 (D) 256

9. 1 & 15 o 456691
(A) 25 (B) 26 (C) 27 (D) 28

20. 301, 291, 282, 274, _
(A) 265 (B) 268 (©) 270 (D) 267

21. In a row of 60, A is standing at 10" from the right end, how many places should A move
loft ward to become 23 from the left end?
60 £ v GFT H, A aier o @108 vue o @ §, et R AV wE aw de & [
A#) ardf 3 & fraa st & wreafiads & adan?
(A) 25 (B) 26 C 27 (D) 28
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Direction for questions 22 - 25 ;
W1 22 - 25 % ford firibmn.

. .In each of the following questions, a pair of words is given. You are to study the relation
existing between them and then find out from the given alternatives, the pair of words that
bears the same relation between them and indicate that on the answer sheet.

2 e 1 el v A W 1w sy fern v 1 3 o e #) A e 0 A
3 v & S W fordn ot Al weey & v s v i gfaa %t

Questions /9 :

22,

4.

GO ON TO THE NEXT PAGE

Bear : Hibernation

(A) Man : Immigration

(C) Food : Adulteration

T : e e

(A) 3wt wETga (B)  Waf WA

Theft : Confess

(A) Flight: Dare  (B) Fault: Admit
ﬁﬂ:ﬁ{ﬂ

(A) 334 \wH (B) oM wEFT

Triangle : Quadrilateral
(A) Cube: Trifold

(B)
(D)

(©)

(C)

(B)

(C) Trident: Trapezium (D)

P ot

(A) oo RAwE (B) & :¥m= ©

Textile : Mill

(A) Eggs:Hen (B) Coal: Mine (C)

I : FHEEAT

(A) 33t (B) #Har:@em (O
APT_B

B

Bird : Migration
Frog : Aestivation

ar Az (D) A9 gEl

Murder : Commit (D) Mistake: Agree

(D) Terdt : TRl

ol R

Square : Rectangle
Pentagon : Hexagon

R wxee (D) 999 S

Food : Agriculture (D) Brick : Kiln

T (D) %z:war



NUMERICAL APTITUDE

Questions : 25

26.  Bina and Meena together can finish a job in 8 days. Bina can do the same job on her own in
12 days. How long will Meena take to do the job by herself ?

= 3R e o Ty 8 RET ¥ uw Fw @ wer & andr E &Er e & 3w oA 12
RT3 w5 wwch 1 A v 3w W w6 A B w7
(A) 16days/f=t  (B) 20days/R&t (C) 24 days/R=T (D) 30 days/Ret

27.  January 1, 2008 is Tuesday. What day of the week lies on January 1, 20097

(A) Monday (B) Wednesday  (C) Thursday (D) Sunday
1 J=rady, 2008 Faar &1 & 1 S=adl, 2009 F @ & #= @ e g
(A) ®wER (B) Fuwaw (©) waw (D) Waar

28.  How many meters of carpet 63 m wide will be required to cover the floor of a room 14 m
m?

AT <93 & v &7 A 63 A o9 v Fdfw & faom § Ao feaeyr @ & yrevasar
efr?
(A) 200 m/# (B) 210 m/#r (C) 220 m/#r (D) 185 m/#r

Direction for questions 29 - 33;

¥ 29 - 33 % feg e

Each question is followed by two statements (1) and (2).
TEF TE F A A (1) vE (2) fed ma #
Indicate/qf &7 :

(A) if Statement (1) ALONE is sufficient, but Statement (2) alone is not sufficient
aprr fads o (1) v 8, W fads @ (2) wira @ @

(B) if Statement (2) ALONE is sufficient, but Statement (1) alone is not sufficient
st forks Ay (2) wira &, ox fod o (1) wira = R

(C) if EACH statement ALONE is sufficient
ST WEF AT e e A wdra §

(D) if Statements (1) and (2) TOGETHER are NOT sufficient
T A (1) v (2) v g T8
Questions /999 :

29. Isx>y?/®x>y?
(1) x=y+2

(2)

GO ON TO THE NEXT PAGE APT_B




30.

3.

32,

33.

B

Last year the average salary of the 10 employees of Company X was Rs. 42800/-. What is

the average salary of the same 10 employees this year ? )
(1) For 8 of the 10 employees, this year's salary is 15 percent

greater than last year’'s salary.
(2)  For 2 of the 10 employees, this year’s salary is the same as last

year's salary.
fireat = Forft X ¥ 10 svfarrat = sias amTe 42800 T 4t 34 10 w1 shea wren

v o et @ ?
(1) 103 A 8 wefarliat 51 @ = F1 e frod o ®) v 15 sfm
afirw &)
(2) 109 | 2 weariat w5 79 = w1 avee fred ad AW b

In a certain classroom, there are 80 books, of which 24 are fiction and 23 are written in
English. How many of the fiction books are written in English ? . ,
(1) Of the fiction books, there are 6 more that are not written in

English than are written in English.
(2) Of the books written in English, there are 5 more nonfiction
books than fiction books.
feit s e F 80y ot it & 24 v & wd 23 SR # feran &1 fre ST #) g SR
A fermrm k2
(1) Iy # qes f sfiet § foat g o3 6 i gEE
stirtt # et foreht 7 &)
(2) =t foelt 7 TR ¥ 4 ITEE F TR H o 5 M wE
ITAE F AR

If nis an integer, isn + 1 odd ?
{1) n+2isaneven integer.
{2) n-1isanodd integer.
AW n UF TF Edtn+ 1 fm @2
(1) n+2T 89 i &
@) -1 fron i &)

The hypotenuse of a right triangle is 10 cm. What is the perimeter, in centimeters, of the
triangle ?

(1) The area of the triangle is 25 sq.cm.

(2) The two legs of the triangle are of equal length.
faredt Tyahror 7 0l 10 At &1 39 e 1 oftf Sdte § @0 a2

(1) T = e 25 a0 & ot &4

(2) fawron 0 3 ang wway wvard =1

GO ON TO THE NEXT PAGE APT_B

Vikash bought 20 dining tables for Rs. 12000 and sold them at a profit equal to the selling
price of 4 dining tables, The selling price of each dining table is
(A) Rs.700 (B) Rs.750 (C) Rs.725 (D) Rs. 775



37.

38,

39,

40.

41.

B

-ﬁmw#-umm&ﬁmmﬁnmmmﬁ4mﬁﬂt¢aﬁﬂmiﬂ*mmw]ﬁ

faam welrs i 2ae o Ry e #
(A) 700 BT (B) 750 € 7250w (D) 77509

A 415 m long train is running at 63 km/hr. [n how much time will it cross a tunnel 285 m
long? .

415 Mt &l v 27 63 Pl wRY wer #y Afy @ ww T B 285 A FFy v FOT W W
& F o0 fFae waa &

(A) 39sec/dHT  (B) 40sec/ddFT  (C) 41sec/AFS (D) 42sec/AFS

The average weight of A, B, C is 45 kg. If the average weight of A and B is 40 kg and that
of B and Cis 43 kg, then the weight of B is

A, B, C 1 3w oot 45 frar b1 afx A 30 B @ aftwa aoh 40 Reer & R B3 C ®
43 fraT &, &Y B & ageT §

(A) 17kg/Ber  (B) 20kg/frat  (C) 26kg/FFar (D) 31 kg/Frar

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 42 minutes
will be covered by A in

A, B ¥ 2RFT 3 & SR B, C & Repr s &1 C, 42 Fiwie F amar qf aar & A A A
qff &3 #F @G FEET

(A) 7min/fFE  (B) Mmin/Fe (C) 28min,/Baz (D) 63 min/F=E

Five years ago, Mohan's age was one-third of the age of Suresh and now Mohan’s age is
17 years. What is the present age of Suresh ?

qTa el GE, Ale it 37 o § 99 Ht o-ferd ot 3 3@ AeT H 9917 af & G H <" 9w
Rt &2

(A) 9 years/a¥ (B) 36years/3f  (C) 4lyears/ad (D) 51 years/3¥

(637+478)° — (637478
(637x478)
{A) 2 (B) 4 () 159 (D) 1115

Which of the following numbers is NOT a square of any natural number?
feifafaa & & w9 @ s Rl o apa @ & @ A8 R

(A) 34692 (B) 4096 () 15309 (D) None of these/Sa3t & #r§ 78

A boat is rowed downstream at 15.5 km/hr and upstream at 8.5 km/hr. The speed of the
stream 1s

(A) 3.5km/hr. (B) 575km/hr.  (C) 6.5km/hr. (D) 7km/hr.
UF A U & Wy 15.5 G oft e i awr & fawg 8.5 feel ofy g & s & &
Frafa i

(A) Asfefrazr (B) S575fmfder  (C) 6.5 Reivdaer (D) 7 Fevraer

GO ON TO THE NEXT PAGE APT_B
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B

10 pipes of the same diameter can fill a tank in 24 minutes. If 2 pipes go out of order, how
long will the remaining pipes take to fill the tank? :

Uh @ & 10 9w 24 T % o S @) et wad I afX 2 Orgw adE @ o £, a
T T arew & Y aw ¥ Reaer wea &

(A) 30min/Bwe  (B) 40min/fwz  (C) 45min/fwe (D) 19 min./feE

(0.9% of 450) + (0.2% of 250) = ?
(450 7 0.9%) + (250 F1 0.2%) = 2
(A) 5.04 (B) 75 (C) 8.1 (D) 91

Iy

IFA:B:C=2:3:4

=7

ARXA:B:C=2:3:4,ar
(A) 8:9:16 (B) 8:9:12 (C) 4:9:16 (D) 8:9:24

=7

a

B
A
B

ﬂ‘lm ﬁlllm
9 T Wi

Direction for questions 45 - 47:

T 45 - 47 % ford fifw

All the 30 students of a class took a test on Mathematics and a test on English, The

following table shows the result.

ot w5 % 30 | |t farendt 3 nfom vd st F wien f23 ) frafafas gt hares £

wefdia & &1

Subject/ faua Passed,/ 3wtol Failed /%&
Mathematics,/ fora 25 5
English,/ 371t 2 8

Two students failed both in Mathematics and English.

31 feedt Tiforr A st A ft B e

Questions /¥ :

45.

How many students failed in only one subject?

foe faremeff ff v @t famg & Far g7y 2
(A) 28 (B) 25 C) 22 (D) 9
How many students passed in at least one subject?

e faemdl 9 9 +9 vF faug O o 59 2
(A) 28 (B) 25 € 22 (D) 9

How many students passed in both the subjects?
T fermedt & fareeat o fo 2
(A) 28 (B) 25 < 22 (D) 19

GO ON TO THE NEXT PAGE AFT_B



S0 8. 369
LEMat s S e =2
48. The 04.‘,3154’4?3“11@31"“?&!
3 =
49, If the sum of three consecutive numbers is more than the middle number by 130, then the
middle number is
aft e AT FEt & O fa fr g @ 130 #Ow §, o &g f G
(A) 64 (B) 65 (C) 66 (D) 60

) 1
50. At which sum the simple interest at the rate of 3%% per annum will be Rs. 210 in 2 3

years ?
(A) Rs.1580 (B) Rs.2400 (C) Rs.2800 (D) None of these

magﬁmmﬁm#mmmmmmz%ﬂﬁzmm-ermr?
(A) 1580 v9F (B) 2400 v (C) 2800 9 (D) wit & wrf T

GO ON TO THE NEXT PAGE APT B o



g GENERAL ENGLISH

Questions : 50

Direction for questions 51 - 55:

Below several disarranged words are given in each question. Arrange them in proper
order so that it makes a sense and indicate the index (A or B or C or D) of the word you have
chosen to put LAST.

Questions:
51. practicable this seems proposal
(A) (B) (C) (D)
531 congratulated SUCCEeSS on I him his
(A) (B) (€) = (D) 2
53. bees attract and flowers butterflies
it (A) (B) () (D)
4. he in get the up morning
= (4) (B) = (€) (D)
35. ago met she me years
(A) (B) = (< (D)

Direction for questions 56 - 60:
Choose the right alternative which is OPPOSITE in meaning to the bold typed word.
Questions:

56. Her book is full of long, conveluted sentences,
(A) straight (B) complex (C) simple (D)  round-about

57. Sheis alady of exquisite taste.
(A) abnormal (B) detestable {C) delicate (D) unsound

58. His translation is too literal to be interesting.
(A) wverbose (B) prosaic (C) figurative (D) poetic

59.  We went to the first floor through the rickety wooden stairs.
(A) stable (B) old (C) narrow (D)  uncomfortable

GD ON TO THE NEXT PAGE APFT_B 1



60. There is not a trace of vanity in her behaviour. L
(A) humility (B) selflessness  (C) modesty (D) digmity

Direction for questions 61 - b4:

Choose the correct alternative which can substitute the given expression.

Questions:

61. The lower part or mouth of a river. .
(A) Estuary (B) Basin (C) Delta (D) Tributary

62. A small hut for keeping dogs.
(A) Dog-house (B) Crib (C) Stable (D) Kennel

63. Yearly celebration of a date or an event.
(A) Birthday (B) Anniversary. (C) Jubilee (D) Centenary

64. A person who is in charge of a museum.
(A) Caretaker (B) Warden (C) Superintendent (D) Curator

Direction for questions 65 - 69 :
Read the following passage carefully and answer the related questions.

PASSAGE

Aldinga reef is a watery paradise, a teeming sea jungle, a happy hunting ground for
underwater spear-fisherman like myself. Forty of us each in black rubber suit and flippers,
glass-windowed face mask and spear-fishing gun were waiting for the reference’s nine-0O'clock
whistle to announce that the annual South Australian skin diving and appear-fishing
championship competition has began. Each of us would have five hours to bring in to the judge
the biggest bag, reckoned both by total weight and by number of different species of fish. My
own chances looked good. | had owned the 1962-63 championship and [ had been runner-up
the next session. I had promised Kay that this would be my last competition. [ meant to clinch
to the title and then retire in glory, diving thenceforth only for fun, when Kay and I might both
want to.

Lesser sharks - like the Bronze whaler and Grey nurse - are familiar to skin divers and
have not proved aggressive. Fortunately the dread white hunter or ‘white death’ sharks, caught
by professional fishermen in the open ocean, are rarely seen by the skin divers. But as a
precaution two high powered patrol boats criss-crossed our hunting arca keeping a wary

lookout

Questions :
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65. The author was so optimistic about his success due to the fact that
(A} he was a good swimmer
(B) ha was a good sportsman
(C)  he was one of the competitors of South Australian skin diving and spear fishing
championship
(D) he owned championship last year and was a runner-up for the next session

66.  Aldinga reef is a paradise for those who
(A) love to take bath in the sea
(B) love swimming
(C)  like spear fishing in underground water
(D) like to contest for the Skin Divin g championship

67.  The competitors were evaluated in terms of the
(A) total weight and number of different types of fishes
(B) number of sharks killed
(€) amount of time spend under the water
(D) number of fishes caught

68. To protect the skin-divers from the ‘white death” the authority
{A) took no measure at all
(B) provided them with the safety measures such as glass musk, black rubber suit and
spear fishing gun
(C) provided two patrol beats for searching the place and protecting them
(D) arranged the competition in such an area of the sea where the ‘white deaths” are
rarely seen

69. The most suitable title for this passage would be
(A) Dangers under the sea
(B) Story about spear fishing championship
(C) Shark and the Swimmer
(D) None of these

Direction for questions 70 - 74:

For each of the following sentences four alternatives are given. You are required to choose
the correct meaning of the IDIOMS given in bold in the sentences.

Questions:

70.  The sight of the accident made my flesh creep.
(A) worried me (B) frightened me (C) confused me (D) drew me attention

71. The members of the group were at odds over the selection procedure.
(A) acting foolishly (B) in dispute {C) unanimous (D) behaving childishly
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74.

B

After sowing his wild oats Ram has decided to stick to the straight and narrow path in
future,

(A) becoming a gardener

(B) becoming a farmer

(C) a period of wildness

(D)  going through a period of irresponsible pleasure seeking

His most trusted friend proved to be a snake in the grass.
(A) cowardly and brutal (B) an unreliable and deceitful person
(C) ahidden enemy (D) low and mean

When he tells stories about himself, he is inspired to draw the long bow.
(A)  get excited (B) exaggerate (C) getemotional (D) underrate

Direction for questions 75 - 79:

Choose the word which is nearest in meaning to the bold typed word.

Questions:

79,

76.

78.

The officer was divested of all power.
(A) Bared (B) Denuded (C) Dispossessed (D) Disrobed

He is liked by all for his candid behaviour.
(A) Social (B) Simple (C) Frank (D) Sociable

Man has to encounter many hardships in life.
(A) solve (B) face (C) bear (D) overcome

As a speaker he was an utter failure.
(A) total (B) partial (C) completely (D) relative

No one expects a facile solution to the Kashmir problem.
(A} satisfactory (B) easy (C) satisfying (D)  difficult

Direction for questions 80 - 85:

Choose the best word or expression to complete the sentences.

Questions:
80. He lives in the world of
(A) allusions (B) illusions (C) conclusions (D) delusions
81. What you say now is not _ with what you _last week,
(A) agreeing....said (B) consistent....said
(C) corresponding....uttered (D) comparable....spoke
GO ON TO THE NEXT PAGE APT_B
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- l:l‘..e husband was taken aback when his wife to him that she him for
is money, T
(A) revealed ..., had married i
. {B) declared .... married
(€) revealed .... married (D) confirmed .... has married

83. 'r:E dun’t1 know what him to commit his crime.
(A) excited (B) roused (C) prompted (D) attracted

84. Now it is difficult to carry this business in the teeth of stiff competition.
(A) out (B) on (©) off (D) forward

85. We must provide ourchildren _______evil days.
(A) with....for (B) for...against (C) to....for (D) from...for
Direction for questions 86 - 90:

~ Ineach of the following questions various words are given, one of which is wrongly spelt.
Find out the WRONGLY SPELT word.

Questions:

86. (A) Logqacious (B) Austere (C) Agony (D) Nutritious
87. (A) Omniscent (B) Fertile (©) Saturnine (D) Accessory
88. (A) Sonorus (B) Nebulous (C) Exodus (D) Noxious

89. (A) Exonerate (B) Degenerate ({C) Denigrate (D) Invertirate

90. (A) Churlish (B) Slopy (C) Persuade (D) Ingenuous

Direction for questions 91 - 95:

Read the following passage carefully and answer the related questions.
PASSAGE

Most of us use the products of science-railways, aeroplanes, electricity, wireless and
thousands of others - without thinking how they came into existence. We take them for
granted, as if we were entitled to them as a matter of right. And we are very proud of the fact
that we live in an advanced age and are ourselves so very ‘advanced’. Now, there is no doubt
that our age is a very different one from previous ages and | think it is perfectly correct to say
that it is far more advanced. But that is a different thing from saying that we as individuals or

groups are more advanced. It would be the height of absurdity to say that because an engine-
driver can run an engine and Plato or Socrates could not, the engine-driver is more advanced
that, or is superior to Plato or Socrates. But it would be perfectly correct to say that the engine
itself is a more advanced method of locomotion than Plato’s chariot was.
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Questions:

91.  People today are very proud because they live ina advanced age.
(A) philosophically (B} materially (C) scientifically (D) spiritually

92.  Which one of the following statements is TRUE?
{(A) Anengine-driver is cleverer than Plato or Socrates.
(B}  Plato or Socrates is in no way inferior to the engine-driver.
(C) Plato and Socrates surpassed the engine-driver in every respect.
(D) The engine-driver cannot be compared to Plato or Aristotle,

93. In this passage the author mentions Plato and/or Socrates to emphasize that
(A) they are/were men of great scholarship
(B) people as individuals in the modern age are not more advanced than their
predecessors S
(C) the engine is a better mode of locomotion than Plato’s chariot
(D) Plato and Aristotle had greater respect for leaming

9.  According to the author, the present age is far more advanced than
(A) all the previous ages in some respect
(B) the age of Socrates and Aristotle in some respects
(C) some of the previous ages in all respects
(D) all the previous ages in all respects

95. Many of us make use of machines
(A) with very little knowledge of their mechanism
(B) without any knowledge of their historical significance
(C) with full knowing of their genesis
(D)  without knowing how they were invented

Direction for questions 96 - 100 :

In each of the following questions some of the sentences are grammatically correct and
some are incorrect, Find out which part of the sentence has an error and mark that part. If there
is no error, mark ‘D' as your answer.

Cluestions :

96. The conduct of many boys and girls / is not what / they should be.

(4) (B) (©)
97.  The boys objected to / the allegedly illegal parking of trucks / belonged to the firm.
(4) (B) (€)
98.  The committee was divided / on the issue of selecting their representative / for the
forthcoming mnfef::jcm {Bj

(€
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99.  We were about to hire a taxi / when John stopped his car / and gave us a lift.
©

(A) (B)
100. Hardly had the sad news / reached her ears / when she broke into tears.
(A) (B) (©
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GENERAL AWARENESS

Questions : 50
101. Baking Soda is basically
(A) wdium carbonate (B) sodium sulphate
(€) i-'vﬂl.llul'l'l bicarbonate (D) sodium bisulphite
Afdm e g@ w9 A L1
(A) wifem@ate  (B)  afdaw aede (C) siffzum angawirz (D) TR AL

102, Who won the 2019 edition of men’s singles US Open Tennis title?
(A) Novak Djokovic (B) Roger Federer (C) Rafael Nadal (D) Daniil Medvedev
el & Uaet YO AT A 2019 1 Raerid e il
(A) Aa@defa  (B) Jorhew (C) el ST (D) 3fer eded

103. Which state government has launched 'Mukhyamantri Tirth Yatra Yojana' for senior
citizens?
(A) Odisha (B) Jharkhand (C) Delhi (D) Punjab
Faver o RT3 AR ARG ¥ fore e e 2y At * 4 1 87
(A) anfdsm (B) #rR@S (C) PRl (D) 99d
104. Where is the headquarter of the World Health Organisation (WHO) situated?
(A) Washington DC, USA (B) London, UK
(C) Paris, France (D) Geneva, Switzerland
fare e &ed (WHO) @1 e avel e 87
(A) aftme @t gowe  (B) ¥, g (C) R, W (D) R, Ragavds
105. Which of the followings is NOT the part of the Chandrayaan-2 mission?
(A) Lunar orbiter (B) Vikram lander (C) Pragyan rover (D) Drushti Telescope
Fretfaifad 3 @ di -2 e @ e @l 82
(A) T aifdeR (B) R sy (C) W (D) =& ey
106. The Moti Masjid was built during the reign of Shahjahan at
(A) Shahjahanabad (B) Delhi (C) Agra (D) Lahore
AYeft sfrE el & AT & AR o T AT AT |
(A) ATBHEHE (B) feedt (C) drRT (D) el
107. Who is the new RBI Governor of India?
(A) Raguram Rajan (B) Shaktikanta Das (C) Urjit Patel (D) K.C. Pal
N7d & ¢ RBI TaR HH7 &2
(A) I IS (B) iferepic & (C) Sl qee (D) ¥4 9
APT_B
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108.

109,

110,

111.

112,

113.

114.

115.

116,

B

The temperature, at which the same value on both the Centi grade and the Fahrenheit scale
exists, is

8 e, RorrsT 4 st wrege wba Y gv g@ war e e d, 8

(A) 40° (8) -40° € © -3

India’s longest rail-road bridge ‘Bogibeel Bridge’ has built over which of the following
rivers?

(A) Ganga . (B) Godavari C) Yamuna (D) Brahmaputra
IR T AN A1 - e qvivdrer R ¥ fa Ad WA 87

(A) (B) Merd (C) agw (D) wegd

Which company launches World's first GST calculator?

(A) Casio (B) Orpat (C) Texas (D) Lenovo

Fasey eeft ey a1 wer GST &gt et R

(A) SR (B) 3z (C) Taurg (D) AR

The standard ratio for cooking Basmati Rice is parts waterto___ partrice
by volume,

A A TH B sy B ofiom d wmoad w aew & A

(A) 175,15 (B) 1.75,1 () 35,1 D) 4,3

Which one of the following is the highest gravity dam in the world?

(A) Beasdam (B) Hirakuddam (C) Nangaldam (D) Bhakra dam
Fre=feafiae 4 < @t a1 g a1 st T e aren ang &7

(A) =T i (B) dEnrpzam (C) et AT (D) Wrger A
World Blood Donor Day held every year on

(A) 14" June (B) 15" June (C) 180 June (D) 20 June
P 7 ara few ov arr &Y 3o fsar amn &

(A) 14T (B) 159 (C) 189 (D) 203

Who is to conduct the elections to the Panchayati and Municipalities?

(A) Central Election Commission (B) State Election Commission

(C) Central Government (D) State Government

qeraedt 3R TR wiferrsl & g #i avar d 7

(A) FAEEIET (B) IR AT (C) FE WHR (D) ol HHR

Which country will host 2022 World Cup Football?

(A) Mexico (B) England (C) Russia (D) Quatar
aﬂaméﬂﬂﬂﬁmﬂaﬁgmmaﬁm? '

(A) Afraa (B) et (C) &u (D) e
The Zojila pass is located in which state?

(A) Sikkim (B) Arunachal Pradesh

(C) Jammu and Kashmir (D) Himachal Pradesh
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117.

118.

119.

120.

121.

122

123,

124.

B

I o fr U & R

(A) Tafewn (B) Imomad waw  (C) o Mt e (D) fmaa s
Which one of the followings is the largest foreign exchange earner of India?

(A) Tobacco (B) Leather (C) Electronic (D) Tea

fPrafRf@a & & ol sma & wa awr Rl aer F 3o 82

(A) aFarg (B) wsr ©) sawfw (D)

Ripe mangoes contain _

(A)  vitamin A (B) vitamin B (C) wvitamin C (D) vitamin E

ofRawe et 3 grar

(A) RafEe A (B) fafa=B (© Rofa=aC (D) F=f@FE

Who appoints the Governor of any state in India?

(A)  Member of the Parliament (B) The President

(C) The Prime Minister (D) The Chief Justice of Supreme Court
m#mmmtmﬁﬁgﬁmmmh

(A) #8c & §e¥w (B) Igufy  (C) wuredt (D) wdfew sy & H@w i

In which part of human body urea is produced?

(A) Kidneys (B) Liver (C) Pancreas (D) Urinary Bladder
AT W & G Ry 7 gt amar 7

(A) FFF ® g © w=mm (D)

All of the following spices add heat EXCEPT

(A) black pepper (B) red chilli (C) green chilli (D) bay leaves
Fefofem =it s 7 & oF & semEn i s e ¥

(A)  Fw fird (B) e fard (C) =hfd (D) &a g

What is the name of India’s first Mobile App created to provide scholarship to students
from poor and weaker sections?

(A) Shikshavritti (B) Padhega India

(C) Har Ghar Scholar (D) National Scholarship Portal

AT W FAER @i & o @ ot (FRRN) Tae w6 @Y @ e s ¥ e
Ararsa 09 F A7 FaO1 2

(A) Resfadt  (B) wmiRm (O Ww & (D) A wlai@g e

Which infectious disease is considered deadliest in the world?

(A) Tuberculosis (B) HIV (C) Dengue (D) Malaria
g & st & dFwE Al wad maE A aEh 2
(A) @EAT (B) ©w & Q) 3 (D) wrafrar

The state which does NOT have a boundary with Bangladesh is
{A) Manipur (B) Mizoram (C) Tripura (D) Meghalaya
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125.

126.

127.

128.

129.

130.

131.

£

#ta ar s atrary £ @ g aft &2

(A) =forgT (B) Ao (© A (D) T
‘I-League’ is associated with which one of the following?

(A) Football (B) Cricket (C) Table Tennis (D) Hockey
- frafaf@a & & fead w S on B2

(A) gedfa (B) farve (C) ¥ dforw (D) gffr

Who amongst the following was renowned in the field of instrumental music - the
Shehnai?

(A) Ustad Alla Rakha (B) Ustad Bismillah Khan

(C) Ustad Amjad Ali Khan (D) Pt Vishwamohan Bhat

Feafam & & 9 ey Wl ugend & &7 F wfag a7

(A) IFE Hear Toar (B) e faferemra=

(C) 3¥z 3AFE el W (D) «f3a favasig=r oy

Which one among the following states has the largest amount of coal reserves in India?

(A) Andhra Pradesh (B) Chhattisgarh  (C) Jharkhand (D) Odisha
Fre=fataa u=at & & 5 UsT & WNa & aad 93 Fad & 6 7

(A) I (B) oehwg (C) wruy (D) afEarw

The 2020 Summer Olympics will be held in

(A) Madrid (B) Buenos Aires (C) Istanbul (D) Tokyo

2020 el W 9 yrafae R S

(a) A (B) @shw vy (C) gEdAd (D)

Which renowned personality has been named as the brand ambassador of Tribes India?
(A) Deepika Padukone (B) Mary Kom

(C) Sachin Tendulkar (D) Sania Nehwal

fov witg zafFace #1 sd It & aiz vdast & w9 3 aifiva fean &2

(A) dfFaeFEs  (B) FTFH (C) wfsrdgest (D) wTagaw
Which UT/state government decided to impose a ban on single-use plastic products from

1st March 2019?
(A) Tamil Nadu (B) Puducherry (C) Delhi (D) Karnataka
farmr UT/ wroa wae & 1 91d 2019 3 qavat-renféeds Jeqrel & Suah 9w wivay a@me a1 Fiokr ferme

(A) aferg (B) qgudt (C) Reh (D) wfeas

A fresh an egg ; the itis to peel.

(A) less, difficult  (B) more, difficult (C) less, casier (D) more, easier
g AT amEmAdgEm I A am)

(A) &, qfiaA (B) wfum, qfiwa (C) @A, (D)  wfies, s

Which country, on the map of world, appears as “Long Shoe"?
(A) Portugal (B) Ialy (C) Greece (D) Hungary
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o & wrfers w0 ¥ 2w vt v e g ) w dren € 2

ol g (B) et © (D) ¥
133. Who declares the financial emergency ?

(A) President (B) Prime Minister (C) Finance Minister (D) None of these

foredfta s feafis =) o 3 o & 2

(A) Ty (B) wur Wt (©) o vt (D) wR A = T
134. Who was the Chief Guest at the Republic Day celebrations of India in 20197

(A) President of Thailand (B) President of Malaysia

(C) President of South Africa (D) President of South Korea

2019 3 w1 & 7orei Raw TRy ¥ e sifdfr by Ao

(A)  er§ts & wsgufy (B)  weifira & argufy

(C) o anfia & wreefy | (D) afiror afear & g

135. Which state government has launched a free household power connection scheme
‘Prakash hai to vikas hai’ for the poor in the state?

(A) Punjab (B) Uttar Pradesh (C) Haryana (D) Rajasthan
T F A ¥ ford farm oo W 3 g ute el wemm wim e § o faeem &
EAT &l ?
(A) Y= (B) 39T 2w (C) wftzmom (D) TR
136. In India, the Kargil War is also referred to as
(A) Operation King (B) Operation Dharohar
(C) Operation Watan ()  Operation Vijay
R ¥, SR gg Bt off et AT 81

(A) g (B) IMudE (C) Mg (D) W Ao

137. The world’s tallest and longest glass bridge has opened in which country?

(A) China (B) NorthKorea (C) SouthKorea (D) Japan

foFg 29 ¥ fava 1 at=a vd o) @t i w1 g w2

(A) =T (B) I wifen (C) =l =frm (D) wH
138. The Betla National Park (BNP) is located in which state?

(A) Punjab (B) Jharkhand (C) Haryana (D) Himachal Pradesh

e T FAA (BNP)fFa oo 1 safeqa &7

(A) wTE (B) wnEs (C) frarm (D) fewrerer w&a
139. Which one of the following is the national aquatic animal of India?

(A) Saltwater crocodile (B) Olive ridley turtle

(C) Gangetic dolphin (D) Gharial

fafefas B & F17 YR &1 T STora 5i1d § 7

(A) THER A WRESs  (B) ireE free wge (€)@ EEEn (D) wfgEm
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140. Which of the following statements are correct regarding The Aadhaar?

1. Every citizen is entitled to obtain an Aadhaar number.

2. To verify the identity of a person receiving a subsidy or a service, the government
may require them to have an Aadhaar number.

3. Biometric information will not be shared with anyone even in the interest of national
security,

(A) 2only (B) Bothland2 (C) Both2and3 (D) Alll,2and3

Smar ¥ fawa % Foafafaa & 4 % @ waa wh €2

1. W T U AR T 9 e
2. wferd o fa yrEe s 1 gean 5 St w0 T T SEE e

HEAT 1 A/ w wwA E

3. arfrE s i w5 S st T o e i g F & i aEn

(A) fak2. (B) 1wE2%M (C) 2733 (D) 1,27E 3@
141. Grilling is an example of Cooking.

(A) Moist heat (B) Dry Heat (C) Combination (D) None of these

ffem o g o w5 o e b

(A) i (B) s wit ©) R= (D) % i 2 7@
142, What will be the foundation day of Jammu & Kashmir and Ladakh as Union Territories?

(A) 1% September, 2019 (B) 30% September, 2019

(C) 1% October, 2019 (D) 31# October, 2019

e 3 wedfie afte arere e afi s @1 e 9 AT gmm?
(A) 1f5aaw,2019 (B) 30fFaaw 2019 (C) 1¥9gaz, 2019 (D) 31 3@THT, 2019

143. Which of the following rivers is famous for the spectacular Jog falls?

g;:.% Mahanadi (B) Sharavati (C) Godavari (D) Krishna

# F 9 7t WA A seda F fod afaa # 2
(A) weEFEt (B) vl (C) Therrt (D) Fom

144. Which of the following cities has been named as the World Capital of Architecture for
20207
(A) Pune (B) Riode Janeiro (C) Paris (D) Melbourne
2020 ¥ fer FraferfRaa & 9 faer s1ee ) aree-aen & e v & g & nfirer fsn mar 7
(A) (B) fardwfar () ofw (D) Fearf

145. Who will NOT be honoured with Bharat Ratna 2019?
(A) Nanaji Deshmukh (posthumously)  (B) Dr. Bhupen Hazarika (posthumously)

(C) Pranab Mukherjee (D) Balwant Moreshwar Purandare
9Ied ¥ 2019 ¥ Ry wenfa 78 @ anme

(A) FHSH W (FRUGR) (B) 1. A st (oM

(©) v gt (D) e AR G

146. Which of the following trains has been named as Vande Bharat Express?
(A) Deccan Odyssey (B) Golden Chariot (C) Lifeline Express (D) Train 18
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149.

150.

A RId 3 & (63 G Y IR v Ay
() SETARE (B) e C) v (D) 718

+ Former foreign minister Sushma Swaraj passed away. She became the Foreign Minister in

ll‘{l" vear

g e AT T S Sl 1 e @Y ) ar R ad Qe s e off?
(A) 2016 (B) 2015 (C) 2014 (D) 2010

The Uri Dam is located on which river in Jammu & Kashmir (J&K)?
(A) Beas River (B) Chenab River (C) Ravi River (D) Jhelum River
7} g S FVHIT F form TS W e ¥

(A) faae = (B) == T (C) T T (D) %o @
What makes lemon sour?

(A) Oxalic acid (B) Citric acid (Cy HA (D) Tartaric acid
g Y @1 FlF q=ar g2

(A) fFmfow c@s (B) @migw vhais () HA (D) ewef= oids
Which of the following is the India’s first online radio station?

(A) RadioSansar (B) RadioUmang (C) Radio Aadhaar (D) Radio Teacap
RrfAfld & ¥ F T ¥R & IFon Himars W R §7
(A) M §ER (B) YR 3HT (C) W 3mur (D) 3ar &%
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